B B BnRiR
FIXTURE AUTOMATIC QUICK CHANGER

OQT-20 aEBhRi

OQT-20 F|><ture automatic quick changer

NNERE=" . ® Payload capacity 20kg;
° %Q(J\%Z ZOkg' N e Steel ball lock system;
o KANEREIE A=, e Grasp detecting device inside;
A ,tt:m ® \Vith dustproof function;
* NEEAGNE o Adopt the mechanical self-locking design;
. EEBEQEDJ Be; ® Prevent separation separation from separating when when source of cut off.

o R B 80R1T;
* B LESIEREIMDMTES RIS B o

— EEREH (KN) Connection retention — 4B (um) Moment clearance
— 77 (KN) Elevating power — HBIEEER (um) Torque clearance
35 60
. ) /
8
/7325 B o
= —~
= 2w

0s / 10 /

[ 0.2 04 0.6 0.8 1 12 0 10 20 30 40 50 60 70 80 90

HEASE(MPa) J3%E(N.m)
OQT-20 &S = NHHEE OQT-20 Z3E. HIETfUMEE
OQT-20 continuous relay and lifting force curve OQT-20 Bending moment and torque changer curve
HMESH Specifications
Az EEEERE)Payload capacity 20kg
fIEEESFEE Positon repeatability +0.02mm
o Las i i #4575 8 Bending direction( Mx.My) B69N.m
Static allowable torque
‘ ! o H4%E 7518 Torque direction( Mr) 82N.m
EH (HSE 0.49Mpald)Tight locking force (When the air pressure is 0.49Mpa) 2100N
ZR{K Main body 25 Aluminum alloy
# R Materialv
AARERSS BEMMELD Locking mechanism AZIN Aloy steel
=
Mainbod
SHEOC MR (3BT ock) Housing diameter(Lock when locked) 96 x 96 x HB0Mm
.88 AU Robot side 1.13kg
FRESE Product weight
TEM Tool side 0.40kg
REELEH Disassembling institutions SNIREMIBE Steel ball position lock
FEERNESE Disassembling action pressure 0.39~0.7MPa(4~7kgf/cm?)
BIFEESEEEE Allowable temperature and humidity range 0-55C, 0-95%(F4ENo condensation)
1EFE General BSFL Pneumatic port M5 x 101
LA NPt EEEIEnES AE1NEBIERES( BEm3%kD)
Ml Face-to-face confirmation Confirm both sides of the disk are locked Built=in 1 photoelectric sensor
%Qﬁ% %ﬂ%’?ﬂt B General FB{S S & Electrical signal 2x2Ax9PIN

REIRSE Module parameter

= . o g
ms | gEF |LIEDE I TIFRR| mim | ams | en | sme | gams | en
I\/Iodel Used in voltage currentg Electric pin| Order number | Price Connector Order number | Price

HLEE A _op—
- PTx02-0p-A MVEEAM 7.03.03.0011 PTXZ01-9P-A 7.03.03.0014
o 24V 2A 9Pin
(A) (B) PTx02-op-8 LHM 7.03.03.0012 PTXZ01-9P-B  7.03.03.0013

Data Drawings, 3D Models,Operating Instructions www.opt-eoat.com 66



oPT

P 9MERS OVERALL DIMENSIONS

R 0 O Obp

M AM: OQT-20A
Rot w)t side

1JE8%=: 7.03.13.0001

Order number

S

Price

EEEWAKSEERE o
10457 5
L: $iE#ST =
U: TSI —
o
% )O i
—@ ©
gy  10M5V8 & ]O O
)
E_i:] e | 2 ©
60 30 2-@5 H7¥5
MBI EN S E
TEM: OQT-20B
Toolside O O O O
TR 7.03.13.0002 HJC) LH
Order number
B
Frice 4063 BE 22
*
o o | o o ,e}
O ©1®
© () 1@ 10-M578
o 1o ole |4
0—1© ©16 o \
@90 | 90p)  |H % o
éD é) é é) 60 30 2-@5 HTV5
B RN =E

P 22588 INSTALLATION DESCRIPTION

M AFBERobotarm
‘ ﬁiﬁ/i“Connectmgflange

2-@5X10
@ 4-M6X20
_ RERBO6.5FH

Mounting plate @6.5
through hole

-M6X20
RERBLMF EERE
Mounting plate
tapping M6 teeth
Directly installed

4-M6X20
ﬁ _ | RERBMFEERE
= | Mounting plate

tapping M6 teeth
Directly installed

2-95X10
0 -—====

67 www.opt-eoat.com Data Drawings, 3D Models,Operating Instructions

nnector

?DEE%EE’E. |N88 NPN/PNP
°ho e( SWi

1 /SR PTX02-9P-A
fﬂﬁl% Electrical cc

I

I

I

I

I

I

I

cal connector

Szﬁ'g PTX02-9P-B



	页 11
	页 12

